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BIRZEIT UNIVERSITY

Computer Science Department
Worksheet - COMP233

1- Let C={n € Z| n=6r- 5 for some integer r} and
D={meZ| m=3s+ 1for some integer s}.

Prove or disprove C=D.
2-LetA={1,3,57,9}, B={3,6,9},and C={2, 4, 6, 8}.

Find each of the following:

a.AuUB b.ANB c.AuC dANC

e.A-B kB =#A g BuC h.BNC

3- Let Ci = {i, -i } for all nonnegative integers i.
Find
4
a. Uj=o G
c. Are Cq, C4, Cy, . .. mutually disjoint?
d UiZo G
c. n?io G
4- Use an element argument to prove the following statement
Forallsets Aand B, ANB)uU (ANE°)=A
5- Prove for all sets Aand B, (AN B) N (AN B°) = @.
6- Prove or disprove for all sets A, B,and C, (AN B)uU C=AMN (Bu C).

7- Construct an algebraic proof for the given statement. Cite a property from
Theorem 6.2.2 for every step. For all sets A, B, and C,

(ANB)UC=(AUC)N (BUC).



